
�$. $-1�8� ε > 0 0�/ � ���2��& ����� Θ < ∞! (�� % ε,����'� �'�# 0 �/�'�%� GΘ(τ)
'����/��'. %'� '�'��. #.! #2 ������< 0�/ � ;�;�'�& % ��(�� xf (τ +Θ) 2� �� �( �� %��0.!
#';�$&2�. �#'���� �� �;��%$� #.! ���%$��%��.-?#�  ���%� '�%� |u(t)| ≤ L, t ≥ τ.

"� �4#-
u0(τ, z) = u0(0|τ, z), z ∈ GΘ(τ), τ = kν, k = 0, 1, 2, . . . A*B

1���0  �2�%��& �;�#0�$& �0 A'�����%�0B �;��%$� #�0 �#;� �1��� �� '%.2#�
� ��(�'�%� �1��� �� '%.2# A)B! ����-?�� 2���(� �'�?�'�%$� #. �%#/� #.! 1�$� %2.��

3� �4#. A*B�
u(t, x) = u0(t, x), x ∈ GΘ, t ≥ 0.

�;#'�%���'. �$8��#�0 ;�'���� #. �;�#0�$& �� �1��� �� '%.2#� ��2�$&���� #$$-'��#,
��-�'.  � ;�#0��� �# �0#(�'��� '#'��0� (��%����8� ;��.����
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o%������� � ���$��� ;���'��%$�  �%�� 0���� '# ��2� ��8�$.����% % �1��� �� '%.2# �$.
TjT�,'#'��0 ' �(���0 '$�(�� �< %�20�?� #�� ��$&- '# ��2� .%$.��'. '��1#$#2�4#. '#,
'��0� # �1�';�(� #� 2���  �� ��( �'�# �;��%$� #. ;� ����$& �0 ;���0����0 �1������
���1�%� #. � ��( �'�# 3��0�$#��-�'. (���2 2 �(� #. �#';��'#� ��8�$#���0�< %�<���%!
(�� .%$.��'.  �#1�$�� �'��'�%�  �0  � ;����#��� ����� �' �%�  � ��2�$&����<  �%�8�
 �;��%$� #. � �$#2� # '# ��2� $# �� �< TjT�,'#'��0 6 ��< �$�8## %$�/� #. '#'��0 �9��

�� 9� !���%�� +�����  ��!�+�� S�# ���� ## 2���(# '# ��2�  � �' �%� ;���$�8��0�8�
0����� #';�$&2�-�'. $# ���#2�%�  �� �� �'#��$& �  �%�20�?�  �< ��������#� 0���$#
�1����� %#��

ẋ(t) = Axx(t) +Bxu(t) +Gxw(t), y(t) = Cxx(t), z(t) = Dx(t). A9B

���'& x ∈ �nx 6 %����� '�'��. #. �1�1?�  �� 0���$#! %�$-(�-?�� 3��0#��-?#� 3#$&,
��� �$. %�20�?� #�� u ∈ �nu 6 %����� % ����  #< �;��%$� #�� w 6 %����� '$�(�� �<
%�20�?� #�� y ∈ �ny 6 %����� #20��.�0�< %�<���% �1������ z ∈ �nz 6 %����� ��8�$#��,
�0�< ;���0����% �1������ S�$�8���'.! (�� ;��� (Ax, Bx) '��1#$#2#���0�! ;��� (Ax, Gx) 6
�;��%$.�0�! ;��� (Cx, Ax) 6  �1$-���0��

�$�(�� �� %�20�?� #. ;���'��%$.-� '�1�� '��4#� �� �� 8��''�%'�#� '$�(�� �� ;��,
4�''� ' 2���  �0# ';�����$& �0# ;$�� �'�.0# Sw(ω)� �(�� ';�����$& �8� '�'��%� %�20�,
?� #� �'�?�'�%$.��'. ' ;�0�?&- 3��0#��-?#< 3#$&���%! %�$-(��0�< % '�'��% 0���$#
�1����� A9B� �� %<�� 3#$&���% ;�����'. 1�$�� ��0 ' 2���  �� # �� '#% �'�&- Q�

���1�%� #. � ��( �'�# �;��%$� #. 2���-�'. % %#�� �8�� #(� #�  � 2 �(� #. �#';��'#�
��8�$#���0�< ;���0����% # 3��0�$#2�-�'. (���2 �#�8� �$& �� �$�0� �� '���%��'�%�-,
?�� ��%��#�4#�  �� 0���#4�� σ2

zi
≤ γi, i = 1, nz, γi > 0, σ2

z = diag(Pz), Pz = M{z(t)zT(t)}.

9))



� �1��� �� '%.2# #';�$&2�-�'. % �1?�0 '$�(�� �# �0#(�'�#� ��8�$.���� %#��

ε̇(t) = Aεε(t) +Bεy(t), u(t) = Cεε(t) +Dεy(t), nε ≤ nx, A5B

8�� ε ∈ �nε 6 %����� '�'��. #. ��8�$.�����
����$& 2�0� ���� '#'��0� A9B6A5B ;���'��%$.��'. % 1$�( �0 %#��

ẋΣ(t) = (A−BKC)xΣ(t) +Gw(t), xΣ = [ x ε ]T, K = −
(
Dε Cε
Bε Aε

)
. AtB

����(� '# ��2� �;��%$� #. 2��$-(���'. %  �<�/�� ## '������� �� 0���#4� ���33#,
4#� ��% ��8�$.���� p! ���%$��%��.-?�� �#';��'#�  �0� ���% � #- '#'��0�

(A−BKC)P + P (A−BKC)T +GQGT = 0, P = PT > 0, A)B

8�� 7 6 �#';��'#�  �. 0���#4� 2�0� ���� '#'��0� AtB % �'�� �%#%��0'. ��/#0�� S�# ���0
�#';��'#�  �. 0���#4� �;��%$.�0�< %�<���% �;����$.��'. %���/� #�0 Pz = DPDT� ��,
8�$.����! ���%$��%��.-?#� ���% � #- A)B!  �2�%�-�'. ��8�$.����0# 2���  �� ��( �'�#�


� 2�n���� +�����  ��!�+�� 
 �$#�#(�'��� ���� #� % �1?�0 %#�� ����'. �����0��!
����2���$&'�%� ������� ;�#%��� � % �5��

������� �� fGPGRRG? KBOGFIGdIBRRG? TGHFIdG LBLHB?RI? P > 0 JGTKRMHB] >IRE]�
RB] LILHET[ �/� DFI O[DB>RERII LHFMKHMFR[U BCFGRIVERI] nx − nu < ny + nε ?O>?EHL?

PBLHI^ITB]� EL>I I HB>QKB EL>I O[DB>R?@HL? ML>BOI?

B
L
P (H +HT)P (BL)T = 0; (CR)T(H +HT)CR = 0, AuB

CPE TGHFIdG � BDFEPE>?EHL? aBFTM>B]

H = P−1(AP + 1
2GQG

T)P−1.

`FI SHBT OLE TRB^ELHOB LHFMKHMFR[U TGHFId p LBBHOEHLHOM@NIU FECM>?HBFBO BDFE�

PE>?EHL? aBFTM>B]

{K}η = B̃LP (H + η)C̃R, AyB

CPE η Y >@AG? IJ TRB^ELHOG KBLBLITTEHFIVELKIU TGHFId

{η}κ = (Φ1B
L
P + Φ2(C

R)T − Inx+nε)(HC
RΦT

2 −HTP (BL)TΦT
1 ) + (HCRΦT

2 −

HTP (BL)TΦT
1 )T + P−1B(CR)TP−1B

R

κ(P−1B(CR)TP−1B
R

)T,

κ Y DFBIJOB>QRG? KBLBLITTEHFIVELKG? TGHFIdG DBPUBP?NECB FGJTEFG 

���'& M
L
, M

R
, M̃ �2 �(�-� $�%�� # ;��%�� ��$#��$#  �$. # '%�� �� �� � #2����

0���#4� 3 '���%��'�%�  � �9��
�;����$� #� ��'�#/#0�� ��%��#�4#�  �� 0���#4� �'�?�'�%$.��'. ' ;�0�?&- (#'$� ,

 �< 0�����% �t�� � �/�'�%� ��8�$.����% AyB! ��%#%�$� � �< ;� ;�'�� �%�� 2���(#! ;�2%�,
$.�� ���%$��%��#�& ��;�$ #��$& �� ���1�%� #. '# ��2��

7��*m������ ���#0 �1��2�0! ;���$�8��0�� 0���� '# ��2� ;�2%�$.��  �;�.0�- 3��0�$#,
��%��& ���1�%� #. � ��( �'�# �;��%$� #. % ;� .� �< # /� �� �< ���0# �< 6 �#';��'#.<
��8�$#���0�< ;���0����%� C�� ;�# 4#;#�$& � ��$#(��� �8� �� '�?�'�%�-?#< �;�#0#2�,
4#�  �< 0�����% '# ��2� TjT�,'#'��0 ;�# ���'�%## %�20�?� #��

��1��� %�;�$ � � ;�# 3# � '�%�� ;�����/�� ��� �� S��2#�� �� �" ��,5tu�5++7�7�

9)u
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�� �' �%� ��'����( �< �'$�%#� �;�#0�$& �'�# �����%� 0�/ � ;��%�'�# �4� �� ' #2�
��(���  #/ �� 8�� # 3� �4#� �$� % 2���(� �;�#0�$& �8� �;��%$� #.

ẋ = f(t, x, u), t ∈ [t0, t1] = T, x(t) ∈ Rn, u(t) ∈ Rr,

x(t0) ∈ X0, u(t) ∈ U(t),

F (x(t1)) → inf .

C�� �4� �� �;����$.��'. ;�# ;�0�?#  �;����% � �#33��� 4#���0�� 3� �4## ϕ : T ×
Rn → R1 # 3� �4#� �$� l(ϕ) :

l(ϕ) = m(ϕ)−
∫
T
μ(t, ϕ)dt,

8��
m(ϕ) = inf

x0∈X0
x1∈X∗(t1)

(ϕ(t1, x1)− ϕ(t0, x0) + F (x1)),

μ(t, ϕ) = sup
u∈U(t)

x∈X∗(t)

(ϕ
′
x(t, x)f(t, x, u) + ϕt(t, x)).

���'& ϕx, ϕt 6 '���%��'�%�-?#� (�'� �� ;��#2%�� ��! X∗(t) 6  �������. �;�#�� �. % ��,
 .. �4� �� 0 �/�'�%� ��'�#/#0�'�# XD(t) #'<�� �� �;��%$.�0�� '#'��0�� C�� �4� ��
#0��� %#�� l(ϕ) ≤ inf F (x(t1)) ;� ��������#.0 �;��%$.�0�� '#'��0�� ��0��#0! (�� ���
 ���%� '�%� ';��%��$#%� �$. $-1�< ���2�  �< %��� 3� �4#� ϕ� �� ��8��! �'��'�%�  �!
%'���� 2���(� �1 ���( � ## �4� �#  #/ �� 8�� #� l(ϕ) → sup

ϕ
�

� ��1��� �9� ;��%��#�'. ;����1 �� #''$���%� #� ���� 2���(#� S�$�(� �  ��1<��#0��
# ��'����( �� �'$�%#. �;�#0�$& �'�#! ;���$�/� � '<�0� ;�'$���%���$& �8� ���( � #.�
�� ���! %��1?� 8�%��.! ���1���'.  �$#(#�  �������� % �� �� �4� �# 0 �/�'�%� ��'�#/#,
0�'�# X∗(t)� �'$# X∗(t) = Rn! �� �$.  �������< 3� �4#� ϕ 3� �4#� �$ l(ϕ) 0�/�� 1��&
 ��8�� #(� � S����0� 2���(� �� '�����#% �8� �;����$� #. ���#< �4� �� �����$& �� ��0
1�$��! (�� ��� 0�/ � '��$��&! �'��%�.'& % ��0��< �� '����4#� �����%��

S�'�& {Fi(t, x)}si=1 6  �1��  �;����% � �#33��� 4#���0�< ;� '%�#0 ��8�0� ��0 3� �,
4#� Fi : T ×Rn → R1� ��8�� ��/��� #2 0 �/�'�%

Xi(t, ϕi) = {x ∈ Rn : Fi(t, x) ≥ mi(t, ϕi) +
∫ t

t0

μi(τ, ϕi)dτ},

9)y


